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Final Work Sheet- 3 

(Mathematics for Class- Nine) 

Chapter- Nine 

Exercise-9.1 

Trigonometric Ratio 
Creative Multiplication Choice Questions 

 

Answer to the questions No. (1 – 2) 

using the following information: 

 

The right-angled triangle POM and 

P'O'M' are similar. 

1. If sin𝛉 = 𝐱 in ∆POM then what is the 

value of cos𝛉 in 𝐏′𝐎′𝐌′?   

a) x b) – x2 

c) √x d) √1 − x2 

2. Under which case they are similar?  

a) 
OP

O′P′
=

PM

O′M′
 b) 

OP

O′P′
=

𝑃′𝑀′

𝑂𝑀
 

c) 
OM

O′M′
=

𝑃𝑀

𝑃′𝑀′ d) 
PM

O′M′ =
𝑂𝑃

𝑂′𝑀′ 

Answer to the questions No. (3 - 5) 

using the following information: 

 

3. If 
𝐀𝐁

𝐁𝐃
=

𝐀𝐂

𝐂𝐃
 then which of the following 

is correct?   

a) ∆𝐴𝐵𝐷 = ∆𝐴𝐶𝐷 

b) ∆𝐴𝐵𝐷 𝑎𝑛𝑑 ∆𝐴𝐶𝐷 are similar. 

c) ∆𝐴𝐵𝐷 < ∆𝐴𝐶𝐷 

d) ∆𝐴𝐵𝐷 > ∆𝐴𝐶𝐷 

4. If ∆ABD and ∆ACD are similar then 

which of the following is correct?  

a) AB = AC b) AB.AC = AD2 

c) AD2 =
AB

AC
 d) AD2 =

AC

AB
 

5. 𝐀𝐁𝟐 − 𝐀𝐂𝟐 = What?  

a) BD𝟐 b) CD2 

c) BD2 − CD2 d) CD2 − BD2 

6.  

                 
In the figure besides, right angled 

∆POM Considering ∠XOA = 𝛉 then 

how many numbers are there for 

trigonometric ratio of angle 𝛉? 

a) 6 b) 5 

c) 4 d) 3 

7. If   and  𝐜𝐨𝐬 𝜽 = 
𝑨𝑩

𝑩𝑪
 then 

𝛉 = What? 

a) ∠𝐴𝐵𝐶 b) ∠𝐴𝐶𝐵 

c) ∠𝐵𝐴𝐶 d) ∠𝐴𝐵𝐶 + ∠𝐴𝐶𝐵 

8. If the figure  and  

𝐜𝐨𝐭 𝜽 = What? 

a) 
3

4
 b) 

4

3
 

c) 
3

5
 d) 

4

5
 

9. Which of the following condition is 

correct to construct angle of 45°?   

a) Perpendicular >  Base 

b) Base =  Perpendicular 

c) B𝑎𝑠𝑒 <  𝑃𝑒𝑟𝑝𝑒𝑛𝑑𝑖𝑐𝑢𝑙𝑎𝑟 

d) Base >  Perpendicular 

10. Which of the following is the ratio of 

tangent of angle 𝛉?   

a) 
Adjacen side

Opposite side
  

b) 
Opposite side

Hypotenuse
 

c) 
Hypotenuse

Opposite side
 

d) 
Opposite side

Adjacent side
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11. Which of the following is the relation 

between 𝐬𝐢𝐧𝛉 and 𝐜𝐨𝐬𝐞𝐜𝛉?   

a) sinθ = cosecθ 

b) sinθ + cosecθ = 1 

c) sinθ. cosecθ = 1 

d) 
1

sinθ
+

1

cosecθ
= 1 

12. Which of the following is the value of 

𝐭𝐚𝐧𝛉. 𝐜𝐨𝐭𝛉. 𝐜𝐨𝐬𝛉?  

a) 
Perpendicular

Hypotenuse
 b) 

Perpendicular

Base
 

c) 
Hypotenuse

Base
 d) 

Base

Hypotenuse
 

13. If opposite side, adjacent side and 

hypotenuse of right-angled triangle 

PMO arc PM, OM and OP— 

i. sin θ =
Opposite side

Hypotenuse
=

PM

OP
  

ii. cos θ =
Adjacent side

Hypotenuse
=

OM

OP
 

iii.  tan θ =
Opposite side

Adjacent side
=

PM

OM
 

Which one of the following is correct? 

a) i and ii b) i and iii 

c) ii and iii d) i, ii and iii 

14. If   and 𝐭𝐚𝐧 𝜽 =
𝑶𝑸

𝑶𝑷
 

then 𝛉 = What? 

i. 𝜃 = ∠𝑂𝑃𝑄  

ii. cot 𝜃 =
𝑂𝑃

𝑂𝑄
 

iii.  tan 𝜃 cot 𝜃 = 1 

Which one of the following is correct? 

a) i and ii b) i and iii 

c) ii and iii d) i, ii and iii 

Answer to the questions (15 - 17) 

using the following figure: 
 

 

15. What is the value of BC in cm?   

a) 9 b) 29 

c) 39 d) 49 

16. What is the value of sin∠𝑩𝑨𝑪?   

a) 
9

40
 b) 

81

40
 

c) 
9

41
 d) 

81

41
 

17. What is the value of tan∠𝑩𝑨𝑪?   

a) 
9

40
 b) 

9

41
 

c) 
40

41
 d) 

41

40
 

18. If 𝐬𝐢𝐧 𝛉 =
√𝟑

𝟐
 and 𝐬𝐞𝐜𝛉 = 𝟐 then 

𝐭𝐚𝐧𝛉 = What?   

a) 3√3 b) 6√2 

c) 9√2 d) √3 

19. If 𝐬𝐢𝐧 𝛉 =
√𝟑

𝟐
 and 

𝟏

𝒄𝒐𝒔𝜽
= 𝟐 then 

𝐭𝐚𝐧𝛉 = What?   

a) 3√3 b) 6√2 

c) 9√2 d) √3 

20. If 𝐜𝐨𝐬𝐞𝐜𝛉 = 𝟐√𝟐 and 𝐜𝐨𝐬𝛉 =
𝟏

𝟒√𝟐
 then 

what is the value of 𝐜𝐨𝐭𝛉 = What?   

a) 2 b) √2 

c) 1 d) 
1

2
 

21. If 𝐬𝐞𝐜𝛉 = √𝐱𝟐 + 𝟏 then 𝐭𝐚𝐧𝛉 = 

What?   

a) X b) 
1

X
 

c) x2 − 1 d) √x2 − 1 

22. Which of the following is the value of 

𝐜𝐨𝐬𝐞𝐜𝟐 𝛉

𝐬𝐞𝐜𝟐𝛉
?   

a) tan2θ b) sec2 𝜃 

c) sin2 𝜃 d) cot2 𝜃 

23. Which of the following is equal to 

𝐭𝐚𝐧𝟐𝐀. 𝐜𝐨𝐬𝐞𝐜𝟐𝐀?   

a) sin2 𝐴 b) cos2 𝐴 

c) sec2 𝐴 d) cos2 𝐴 

24. If 𝐬𝐞𝐜(𝟗𝟎° − 𝛉) =
𝟓

𝟑
 then what is the 

value of 𝐬𝐢𝐧𝛉?   

a) 
3

5
 b) 

5

4
 

c) 
4

3
 d) 

5

3
 

25. If acosA − asinA = 0 then which of the 

following is the value of tanA?   

a) a b) 
1

a
 

c) 1 d) −1 
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26. If 3 − 4secAsinA = 0 then which of the 

following is the value of tanA?   

a) 
3

7
 b) 

3

4
 

c) 
4

3
 d) 

7

3
 

27. If 5 − 2 cosecA cosA = 0 then which of 

the following is the value of tanA?   

a) 
2

7
 b) 

7

2
 

c) 
5

2
 d) 

2

5
 

28. If 𝐭𝐚𝐧𝛉 − 𝐜𝐨𝐭𝛉 = 𝟎 then 𝐭𝐚𝐧𝛉 = 

What?  

a) −2 b) 0 

c) 1 d) 2 

29. Which of the following is the value of 

𝐬𝐢𝐧𝟐𝛉

𝐭𝐚𝐧𝛉
 𝐜𝐨𝐬𝐞𝐜𝟐𝛉?   

a) Sinθ b) cosθ 

c) secθ d) cotθ 

30. Which of the following is the value of 

𝐜𝐨𝐭𝟐𝛉

𝐜𝐨𝐬𝐞𝐜𝟐𝛉
. 𝐜𝐨𝐬𝛉?   

a) sin2θ b) sin3 𝜃 

c) cos2 𝜃 d) cos3 𝜃 
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